EASUDOKU - Easy sudoku

Source : http://www.spoj.com/problems/EASUDOKUY/

You are to solve the classic 9x9 sudoku problem.

Input

The first line contains only one number — the number of test cases (more than 1 and less then 15).
Then the test cases are given. Each of them is given by 81 numbers (from 0 to 9) seperated by
single white space (new line after each 9th number). Zero means that it is to solve by your program.

Output

In case of there does not exist the solution write "No solution". If there exist 81 number beeing the
solution of sudoku problem, you have to write all those 81 numbers (separated like in input).

Example

Input:

2
OO000O069830
980000076
6000638051
2050810090
0O6 0000080
090370602
3408500009
720000068
056920000
OO000O069830
980000076
6000638051
2054810090
0O6 0000080
090370602
3408500009
720000068
056920000
Output:
512769834
983514276
6 74238951
2356814097
167492385
498375612
3418567229
7291435638
856927143

No solution
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